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(3 Hours) [Total Marks 80

¢ Question No 1 is COMPULSORY. SIS il ;‘f*_ |
e Attempt any THREE questions from question number 2 to 6 e gty {g _ G
» Assume suitable data wherever required. WAL O s R PR i " |

e [llustrate answers with sketches wherever reqmred
o Use of steam table is permitted. il S

Qu.1.  Solve any four. G e g R A Qe S
a) Define equivalent evaporatle:n ef beller D1st1'_’f,,;j"""ff__,.._:_:_",_-; vbetween boiler..
mounting and accessories with exales el A AT 9
b) What is the role of ﬁ.lStble plug 1n bmler? Expla‘l____;j working of fusible plug -
with neat diagram. .~ & Lr o ol e A
c) Classﬂ’y different types ef steam turblne N AR

i e /?Lﬁ @"‘@ S TR

Qu.2a) The followmg observatmns were e le @ﬁ buler plant durmg one hour 12

| bat; | Steam | =260°C; Steam

generated 37590 Kg, Tem ;;a water entermg the economizer =
15°C; Temperature of water(] eaving | he
4400 Kg, Calorific v_al'ue of fue '-T 33000 kJ/kg Calculate i) The
equwalent evaperatle%_e‘ttkg; of fuel; 11) Thermal efficiency of plant; iii)
Thepercentagehaete rgy of -the ﬁ.lel energy utihzed by the economiser.

Qu. 2 b). l escrtbe the gd.l. ng Q\ﬁlechamsm of reactlen  turbine with a neat sketch, 08

.

Qu. 3a) \ 50% feagtion turbine(with symmetncal velocity triangle) running at 10
v | ';L ,'”s the ex:t angle of the blades as 20° and velocity of the

~ I'fa ﬂew rate IS 8 33 kg/s and at a particular stage the spec1fic
_'; fame is 1:381 rn3fkg, calculate for this stage :i) Suitable blade height,
%‘aass__; - he retor mean dlameter 12 times the blade height; ii) the

1 3b ;ﬁ ‘”Draw the layeut of medem high pressure boiler and explain the unique 10
} features of thlS beller compared to low pressure boiler.

A QR A4 ) Deﬁne Themas cavitation coefficient and explain in conjunction with 10

[ b ARG % cawtatmn characteristics of rotodynamic projects.

Qu 4 b) ‘What is NPSH‘? What is the difference NPSH available and NPSH 10
| requlred? -”
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Qu. 5a) Obtain the expression for the force exerted by a jet of watercm a ﬁxed 16 '}'-i:i_'“ 8
curved plate when jet strikes at the centre of symmetrical curved plate .~~~

Qu. 5b) Enumerate the various uses of gas turbine. DescrlbeW1th neatsketch, 107
working of simple constant pressure closed cycle'gas turbine. .~ - L

Qu. 6 a) In aconstant pressure open cycle gas turbine:féfi

and leaves the compressor at 5 bar. ‘Using the following ‘data: o N
Temperature of gases entering the turbine = 680°C, pressure loss in thef” "%,

combustion chamber = 0.1 bar, c.:c»mp:rsessmt—:vfﬁfi)‘lel.‘lf.zym 85%,turbn 2 QSN

Al du

etficiency = 80%, Combustion efficiency = 85%,y = 1 4andeﬁ oy ¥ 7
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